

## GOVERNMENT OF PAKISTAN COLLECTORATE OF CUSTOMS (ENFORCEMENT) KHUZDAR, CAMP OFFICE AT CUSTOM HOUSE, GADDANI



Email: KhuzdarCustoms@gmail.com

C. No. 01-Cus/Auc/Veh/Goods/SWH/Khuz/2023/2\_1 8

Dated: 14 /06/2023

#### PUBLIC NOTICE

It is hereby notified for General Public that an open auction of confiscated goods, vehicles (New Lots) will be held on 22.06.2023, 24.06.2023 & 26.06.2023 at 11:00 am at Custom House, Gaddani under Chapter V of SRO 450(I)/2001 on "AS IS WHERE IS" basis. Interested parties/bidders may inspect these goods at any time during office hours on 21.06.2023 at Customs Check Post, Khurkhera.

Detail of the Vehicles & Goods	Date of Auction	Location
Vehicles and goods (New lots)	22.06.2023, 24.06.2023	Custom House, Gaddan
	& 26.06.2023	

#### Terms & conditions:

- Auction shall be held strictly in accordance with the provision of the Customs Act, 1969 and rules made there under. All the interested parties/ bidders shall abide by all the conditions ordained under the relevant provisions of the Act and the Rules.
- Auction will be held on "AS IS WHERE IS" basis.
- III. Successful bidder has to deposit 25% of the bid amount in shape of cash/pay order on the spot. Rest of the bid amount shall be deposited within 07 days of the display of the list of approved lots on the Notice Board of Customs House, Gaddani.
- Successful bidder has to deposit 10% of bid amount as Advance Income Tax separately.
- Collector of Customs reserves the right to accept or reject any bid without assigning any reason.
- VI. If the auction is not completed within the stipulated period, the same may be continued on the next date till finalization of auction of all lots.
- VII. Any further information may be obtained from authorized auctioneer Pakistan Auction Mart, Office No. 9/4, RIMPA Twin Star (Opp: Kashif Centre), Shahra-e-Faisal.

Deputy Collector (Auction)

#### Copy to:

- 1. The Collector, Collectorate of Customs, Khuzdar, Custom House, Gaddani.
- The Additional Collector, Collectorate of Customs, Khuzdar, Custom House, Gaddani
  - 3. S.A to Chief Collector (Karachi) Custom House, Karachi
  - 4. The Superintendent State Ware House, Customs Check Post, Khurkhera.
  - 5. C.H.O, Custom House, Gaddani/Khurkhera, is directed for arrangement of auction.
  - 6. Notice Board, Custom House, Gaddani

Deputy Collector (Auction)

### COLLECTORATE OF CUSTOMS, (ENFORCEMENT) KHUZDAR, CAMP OFFICE, CUSTOM HOUSE, GADDANI AUCTION DETAILS OF VEHICLES.

Sr.	Let No.	Case No.	Description of Vehicles
No. 01	05/2023	06-Cus/Seiz/MS-KK/Khz/2023	Toyota Land Cruiser VX Reg. No. Nil Before FSL Chassis No. UZJ100-0013249 After FSL Chassis No. URJ202-4047278
02	15/2023	19-Cus/Seiz/MS-KK/Khz/2023	Toyota Crown Car Reg. No. UNR-021 Chassis No. GRS184-0019835

# COLLECTORATE OF CUSTOMS, (ENFORCEMENT) KHUZDAR, CAMP OFFICE, CUSTOM HOUSE, GADDANI AUCTION DETAIL OF GOODS.

Sr. No.	Let No.	Case No.	Description of Goods	Quantity
01	03/2023	03-	01) Steel Iron Wire F/o	30 Bundle,
		Cus/Seiz/MS-		(each bundle contain 50 Kgs.)
		KK/Khz/2023		Total Weight 1500 Kgs.
			02) Steels Pipe F/o	05 Nos. (each pipe contain 20ft)
				Each of 800 Kgs.
				Total 4000 Kgs.
			03) Euro Beast (I.V Cannula	06 Cartons, (each carton 60 Boxes)
			with Wings and Port) F/o	Each Box 100 Pieces
	and the same of th			Total 6000 Pieces
			04) HDPE (Plastic Bana) F/o	(i) 05 Bags (Blach), each bag contain
				25 Kgs. Total Weight 125 Kgs.
				(ii) 05 Bags (White), each bag contain
				25 Kgs. Total Weight 125 Kgs.
			an and the Fahrickia	(Total Weight 250 Kgs.)
			05) Parachute Fabric F/o	04 Bags (each contain 125 Kgs.)
	Commence of the commence of th		Land Hard Branch	Total Weight 500 Kgs.
02	06/2023	07-	01) Welding Electrodes Brand	100 Packets
		Cus/Sciz/MS-	Tianjin Golden Bridge (E6013)	(each 5 Kgs.)
		KK/Khz/2023	AWS 3.2 (1/8) x 350 mm	Total: 500 Kgs.
			Made in China	02 Bundle
		STOCK CONTRACTOR OF THE STOCK OF TH	02) Assorted Parachute Suiting fabric F/o	
and the second	-		Hobo Professional Hand Wash	Total: 200 Kgs. 70 Plastic Bags, each Bag Contain 04
03	14/2023	17- Cus/Seiz/MS-	Detergent Power, Made in Iran	packets, each Packed 03 Kgs, Total 280
			Detrette rower, state in han	Packets
	7	KK/Khz/2023	Digest Max Biscuit, Made in Iran	27 Cartons, each carton containing 30
			D.O. Exp: 19.04.2023	Pcs: Total 810 Packets
			Ghejmagh Cream, Made in Iran D.O.	325 Cartons, each carton contain 24 pcs,
			Exp: 02.11.2023	Total 7200 pcs: Total weight 1500 Liters
			Setak Oat Biscuit, Made in Iran D.O.	150 Cartons each carton containing 32
			Exp: 08.10.2024	pes, Total 4800 Pes, Total Weight 960 Kgs.

 Oreno Cocoa Coated Wafer, Made in Iran, D.O. Exp: 17.01.2024	15 Cartons each carton containing 06 Boxes each Box contain 24 Pcs, Total 2160 pcs. Total 86 Kgs.
Apbina Marie Biscuit, Made in Iran, D.O. Exp: 18.06.2024	40 Cartons each carton containing 24 Packets, Total 960 Packets.
Gol Koo Figs Jams, Made in Iran D.O. Exp: 30.03.2025	115 Cartons each carton containing 06 jars, Total: 690 each Jar 800 grm Total 522 Kgs.
Carvinal Candy, Made in Iran	70 Carton each carton containing 02 Packets, Total 140 Packets each of 06 Kgs. Total 420 Kgs.
Milano Sandwich Biscuit, Made in Iran D.O Exp: 22.05.2024.	185 Cartons each carton containing 48 packets, Total 8880 Packets. Each carton of 02 Kgs Total: 370 Kgs.
Taste It Sandwich Biscuit Made in Iran	80 Cartons each carton containing 48 Packets, Total 3840 each carton of 02 Kgs. Total 160 Kgs.
Spack Coconut Chocolate Made in Iran D.O. Exp. 05.09.2024	80 Cartons each carton containing 08 Packets, each Packets contains 30 Pieces, total 19200 Pieces, each carton of 04 Kgs. Total Weight 320 Kgs.
Taste It Biscuit, Made in Iran D.O. Exp. 08.12.2023	46 Cartons each carton containing 08 Packets Total 368 packets Each Pkt of 30 grm Total Weight 11 Kgs.
Samak Wafer Biscuit, Made in Iran	40 Cartons each carton containing 06 Packets, Each packet contains 12 Pieces, Total 2880 Pieces.